Parametric Equations:

1. Show that the curve 
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intersects itself at the point (3,1), and find equations for two tangent lines to the curve at the point of intersection.

2. A point traces an ellipse 
[image: image2.wmf]1

2

2

2

2

=

+

b

y

a

x

, so that 
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, when the point reaches 
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(i) Find the parametric equation of the ellipse ( find the values for a and b) and find 
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 at the point 
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3. A point traces a curve whose parametric equations are given by the following
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( An  answer based only on a graphical approach is not sufficient) . 

(i) When is the object moving to the right?

(ii) When is it moving to the left?

(iii) Does the particle ever stops?

(iv) Find the point where the particle is moving straight horizontally ( If it exists).

(v) Find the point where the particle is moving straight vertically.

                  (vi) Find 
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